
 

 

 

 

 

 

 

 

 ,U tu;f;fq;fspd; tpj;jpahrj;jpd; fhuzpfs;. 

     c + k;:- 

                  01. (a + 2)2  -  b2                 02. (y + 2)2  - 25  

     = [ (a + 2) - b]  [ (a + 2) + b ]    = [ (y + 2)  - 5]  [ (y + 2)  + 5] 

                          = (a + 2 - b) (a + 2 + b)      =  (y + 2  - 5) (y + 2 + 5) 

                 =  (y – 3) (y + 7) 

        01). fhuzpfshf NtWgLj;Jf. 

     01.  (m + 2)2 - n2 

             02.  (p + 3)2 - 16 

03.  (2𝒙 - 1)2 – 9 

04.  25 – (m + 2)2 

05.  36 – (a - 5)2  

06.  16 – (p + 2) 

07.  (y - 2)2 - 9 

08.  (m + 2)2 – (m + 1)2      

rgufKt khfhzf; fy;tp jpizf;fsk; 

thuhe;j ghlrhiy 

ghlk; - fzpjk; Vg;uy; -: 4k;; thuk;  

juk; - 10  S. n[aNjtp. Nf/ nj`p/ ept; nghyl;lfk j.tp 

a2 - b2  =  (a - b) (a + b)  

a2 + b2 = tpuptpy;iy 

a2 + 2ab + b2 = (a + b)2 

a2 - 2ab + b2 = (a - b)2 

 

 


